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Day 3: Subtract a single digit from a 2-digit number by bridging multiples of 10 
using knowledge of pairs to 10 and place value.

We are going to 
find 56 – 7.

Draw a label after 
the 56th bead.

How many beads to 
take away to reach 

50? 

How many do we 
still need to take 

away? What is the 
answer? 

56 – 7 = 4956 – 7 = 49
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Day 3: Subtract a single digit from a 2-digit number by bridging multiples of 10 
using knowledge of pairs to 10 and place value.

We are going to 
find 73 – 6. 

67

-3 -3 

73

How many more 
do I need to 

subtract?
What is 70 – 3? 

How many do I 
need to subtract 

to reach 70? 73 – 6 = 6773 – 6 = 67


